
1 Ασκήσεις, Κεφάλαια 10+11+12
1. Θεωρήστε σ ≡ σµ = (I2×2, σi), σ̄ ≡ σ̄µ = (I2×2,−σi), p ≡ pµ = (E, p⃗),

p̄ = (E,−p⃗). Δείξτε ότι (p · σ)(p · σ̄) = (p · σ)(p̄ · σ) = (p · σ̄)(p̄ · σ̄) =
m2I2×2.

2. Δείξτε ότι
ūs(p)ur(p) = −v̄s(p)vr(p) = 2mδrs

v̄s(p)ur(p) = ūs(p)vr(p) = 0

u†
s(p)ur(p) = v†s(p)vr(p) = 2Eδrs

u†
s(p)vr(p̄) = v†s(p)ur(p̄) = 0

u†
s(p)ur(p̄) = v†s(p)vr(p̄) = 2mδrs

3. Δείξτε ότι
2∑

s=1

us(p)αūs(p)β = (/p+m)αβ

2∑
s=1

vs(p)αv̄s(p)β = (/p−m)αβ

2∑
s=1

us(p)αu
†
s(p̄)β = (/p+m)αβ

2∑
s=1

vs(p)αv
†
s(p̄)β = (−/p+m)αβ

4. Αποδείξτε τις σχέσεις (11.51), (11.52), (11.54), (11.55), (11.56), (11.89),
(11.91) του Schwartz

5. Άσκηση 11.4, Schwartz

6. Άσκηση 11.1, Schwartz

7. Αποδείξτε τις σχέσεις (12.57), (12.59), (12.66), (12.81), (12.87),
(12.89) του Schwartz
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